LECTURE 14 Non-linear transverse motion Floquet transformation Harmonic analysis-one dimensional resonances Two-dimensional resonances	Non-linear transverse motionNon-linear field terms in the trajectory equation:Trajectory equation from Lecture 3, p 7, keeping only lowest order terms in the field errors ΔB : $z'' + K(s)z = -\frac{\Delta B(x, y, s)}{B_0 \rho}$ in which $z = x$ or y.Nonlinear driving terms on the right-hand side can drive resonances in the transverse plane, leading to chaotic and ultimately unstable motion.		
11/26/01 USPAS Lecture 14 1	11/26/01 USPAS Lecture 14 2		
Non-linear terms can arise in the trajectory equations from a variety of sources:	• Coherent fields produced by the beam itself, such as space charge		
• Sextupoles introduced to control the chromaticity.	• The beam-beam interaction, which, for a colliding beam machine, is usually the dominant source of nonlinear fields		
 Errors in dipole and quadrupole magnets Higher multipole fields (e.g., octupoles), that, like the sextupoles, are introduced into the machine to control certain machine parameters. 	Nonlinear fields are often deliberately introduced in order to manipulate the beam in transverse phase space: the most common example of this is <u>resonant extraction</u> , a technique used to extract the beam slowly from an accelerator.		
11/26/01 USPAS Lecture 14 3	11/26/01 USPAS Lecture 14 4		

The sensitivity of the beam to a nonlinear resonance depends on the magnitude and azimuthal distribution of the nonlinear fields that drive the resonance, the emittance of the beam, and the exact value of the fractional part of the tune. In order to understand this quantitatively, we will solve the differential equation of motion with the nonlinear terms, using a perturbation method. To simplify the solution, we first make a change of variables.			Every Series Formation The general trajectory equation of motion is $\frac{d^2z}{ds^2} + K(s)z = -\frac{\Delta B(x,y,s)}{B_0\rho}$ in which <i>z</i> stands for <i>x</i> or <i>y</i> , and ΔB is a general nonlinear field. We want to make a change of variables: from (<i>z</i> , <i>s</i>) to (ξ, ψ), where,		
11/26/01	USPAS Lecture 14	5	11/26/01	USPAS Lecture 14	6
Interp For ΔB = z = z' =	$\xi = \frac{z}{\sqrt{\beta}} \text{ and } \psi = \frac{\Phi(s)}{Q} = \frac{1}{Q} \int \frac{ds}{\beta}$ pretation of the Floquet coordinates (ξ, ψ) : =0, the solution to the trajectory equations is $a\sqrt{\beta}\cos(\Phi(s) + \phi)$ $= -\frac{a}{\sqrt{\beta}}(\alpha\cos(\Phi(s) + \phi) + \sin(\Phi(s) + \phi))$	S	a which correspon and	nd the Courant-Snyder invariant is $a^{2} = \gamma z^{2} + 2\alpha z z' + \beta z'^{2}$ ds to an ellipse in (z, z') phase space, we content on which is a function of s . In terms of Floquet coordinates: $\xi(\psi) = \frac{z}{\sqrt{\beta}} = a \cos(Q\psi + \phi)$ $\dot{\xi} = \frac{d\xi}{d\psi} = -Qa \sin(Q\psi + \phi)$	vith a shape
11/26/01	USPAS Lecture 14	7	11/26/01	USPAS Lecture 14	8



$$z'' = \frac{\xi - Q^2 \xi (\alpha^2 + \beta \alpha')}{Q^2 \beta^3 2}$$
Then the trajectory equation is
$$z'' + K_{\xi} = \frac{\xi - Q^2 \xi (\alpha^2 + \beta \alpha' - K\beta^2)}{Q^2 \beta^3 2} = -\frac{\Delta B(x, y, x)}{B_0 \rho}$$
Recall: Lecture 5, ρ 22: in the derivation of HII's equation, we found a differential equation for $\sqrt{\beta}$:
Recall: Lecture 5, ρ 22: in the derivation of HII's equation, we found a differential equation for $\sqrt{\beta}$:
This is the equation of a driven oscillator.
For a general driving force of the form $A \exp[i \nabla \psi]$
 $\xi + Q^2 \xi = A \exp[i \nabla \psi]$
Substituting this in the driven oscillator.
 $\xi(\psi) = a \exp[i \nabla \psi]$
Substituting this in the driven equation, we have
 $-av^2 \exp[i \nabla \psi] = A \exp[i \nabla \psi]$
If the frequency of the driving force is very close to the natural frequency of the oscillator, the amplitude a of the driven $\Delta B(x, y) = h_0(x)x^n$
 $11/26/01$ USPAS Lecture 14 15
11/26/01 USPAS Lecture 14 15

where b_n represents some field derivative: e.g, for n=2 (a sextupole field), $b_2 = \frac{B''}{2}$. If we plug this in to the driving term in the trajectory equation, that term becomes

$$-Q^2\beta^{3/2}\frac{b_nx'}{B_0\rho}$$

Unfortunately, we don't know *x*, since that's what we're solving for. To go further, we make the <u>approximation</u> that the driving term is a small correction (a perturbation) to the motion, so we can approximate $x = \xi \sqrt{\beta}$ by using the linear motion result $\xi(\psi) = a \cos Q \psi$. Then, we have for the driving term, written as a function of ψ ,

$$-Q^{2}\left[\beta(s(\psi))^{(3+n)/2} \frac{b_{n}(s(\psi))}{B_{0}\rho}\right] a^{n} \cos^{n} Q\psi$$

The quantity in brackets is a periodic function of *s* with period *C*, which means it is a periodic function of ψ with period 2π . So, it can be expressed as a Fourier expansion

$$\beta(s(\psi))^{(3+n)/2} \frac{b_n(s(\psi))}{B_0 \rho} = \sum_{m=-\infty}^{\infty} C_{m,n} \exp[im\psi]$$

where

11/26/01	USPAS Lecture 14	17	11/26/01	USPAS Lecture 14	18
$C_{m,n} = \frac{1}{2\pi}$ $= \frac{1}{2\pi} \int_{0}^{C} \frac{d\psi'}{ds'}$ $= \frac{1}{2\pi Q} \int_{0}^{C} ds$ is the <i>m</i> th azimu The Fourier coefficient the appropriate	$\int_{0}^{2\pi} d\psi' \beta(s(\psi'))^{(3+n)/2} \frac{b_n(s(\psi'))}{B_0\rho} \exp[-in\psi' (s')^{(3+n)/2} \frac{b_n(s(\psi'))}{B_0\rho} \exp[-im\psi' (s')^{(3+n)/2} \frac{b_n(s')}{B_0\rho} \exp\left[-im\frac{\Phi(s')}{Q}\right]$ $\int_{0}^{2\pi} \beta(s')^{(1+n)/2} \frac{b_n(s')}{B_0\rho} \exp\left[-im\frac{\Phi(s')}{Q}\right]$ uthal Fourier coefficient for the field error (we power of β and phase advance) is distance around the ring. Examples:	$n\psi'$] γ'] rror $b_n(s)$. reighted by stributed	 A single field e is independent A machine with the field errors circumference. F cells 	error at location s ₀ , of length <i>L</i> . We can to be zero at this point: then $C_{m,n} = \frac{1}{2\pi Q} \beta(s_0)^{(1+n)/2} \frac{b_n(s_0)L}{B_0\rho}$ of m: all values of m are present in the spectrum. ith superperiodicity <i>N</i> : The lattice fundare periodic in <i>s</i> with period $\frac{C}{N}$, where or example, a machine made entirely has superperiodicity <i>N</i> . In this case,	n choose Φ e Fourier ctions and e <i>C</i> is the of <i>N</i> FODO
11/26/01	USPAS Lecture 14	19	11/26/01	USPAS Lecture 14	20

sextupole	2	2	1	<i>m</i> : 1,2,3,4,		
sextupole	2	0	1	<i>m</i> : 1,2,3,4,		
sextupole	2	-2	3	$\frac{m}{3}$: $\frac{1}{3}$, $\frac{2}{3}$, 1 , $\frac{4}{3}$,		
octupole	3	3	2	$\frac{m}{2}$: $\frac{1}{2}$, 1, $\frac{3}{2}$, 2, $\frac{5}{2}$,		
octupole	3	1	0	tune spread: <i>m</i> =0		
octupole	3	-1	2	$\frac{m}{2}$: $\frac{1}{2}$, 1, $\frac{3}{2}$, 2, $\frac{5}{2}$,		
octupole	3	-3	4	$\frac{m}{4}$: $\frac{1}{4}$, $\frac{1}{2}$, $\frac{3}{4}$, 1 , $\frac{5}{4}$,		
11/26/01			USPAS	S Lecture 14	25	

Hence, any breaking of that symmetry by a field error will tend to strength these two nearby resonances.

Two-dimensional resonances

When we consider both transverse planes together, not only do we have possible resonances in both planes, but we also have the possibility of **coupling** the motion from one plane into the other. The general resonance conditions, including both planes together, can be written as

$$k_x Q_x + k_y Q_y = m$$

Example: CESR, with $Q_y=9.588$. The operating tune lies between the second order resonance at 9.5=19/2 (*m*=19, *k*=-1), and the third order resonance at 9.667=29/3 (*m*=29, *k*=-2). The second order resonance will be driven by the term

$$-\left(\frac{a}{2}\right)\frac{Q}{2\pi}\int_{0}^{C} ds'\beta(s')\frac{b_{1}(s')}{B_{0}\rho}\cos[\Phi(s)-2\Phi(s')]$$

The third order resonance will be driven by

$$\left(\frac{a}{2}\right)^{2} \frac{Q}{2\pi} \int_{0}^{C} ds' \beta(s')^{\frac{3}{2}} \frac{b_{2}(s')}{B_{0}\rho} \cos[\Phi(s) - 3\Phi(s')]$$

Since CESR has approximate superperiodicity 2, both of these driving terms, having *m* odd, are suppressed by the ring symmetry.

11/26/01

USPAS Lecture 14

26

Here k_x and k_y are integers; the order of the resonance is $|k_x| + |k_y|$. *m* is a positive integer, related to the Fourier harmonic of the errors, as in 1 dimension. If either k_x or k_y is zero, we have a one-dimensional resonance. If k_x and k_y both have the same sign, the resonance is called a *sum resonance*. Such resonances are just as dangerous as one-dimensional resonances, and can cause beam loss. If k_x and k_y have opposite signs, then the resonance is called a *difference resonance*. Difference resonances represent conditions of energy exchange from one plane to another, and generally do not lead to beam loss. In electron machines requiring flat beams, however, these resonances will lead to an increase in the vertical beam dimension.

11/26/01

11/26/01

Example: third order resonances:

$$3Q_r = m$$

 $2Q_r + Q_r = m - Q_r - Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m - 2Q_r - 2Q_r = m$
 $Q_r + 2Q_r = m$